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Mathematics P1

NSC
QUESTION 1
1.1  Solve for x:
A 3(7—x)=0 (2)
112 3¢ -2x-6=0 (correct to TWO decimal places) (3)
Iy | (3-—x)(x+7)<0 3)
1.1.4 Y32 =g 28 @
1.1.5 x-4-2Jx-1=0 (4)
1.2 Sclxietel'ownrecaatons dry g oy ly:
x=-2y=1]
sleg2y =2 (6)
1.3 It will cost R3 500 to hire a taxi for x number of friends to go on a trip. Four
friends do not have money to pay. The remaining friends agree to pay extra
R43,75 each to cover the cost of the taxi.
1.3.1 Calculate x, the number of friends who want to go on the trip. (5)

1.3.2 Calculate the total amount that each friend pays for this trip in order

. (1)
to cover the cost 0
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QUESTION 2
2.1 Given the arithmetic sequence: 14 ; 2)

2.1.1
2.12
2.13

Hir - AR () 4

Hownnnytcmumttmeinwsequm?
Calculate dzemmofallthetermsofdiewqmnoe.

mesumoftwocomecutivetermsofdnsequmoe: 2] ;35:49:

1S 308. Determine the two terms. (4)

(3)
2)

22  Showthat T.=4n'+n isthe general term of a quadratic sequence with the
following properties:
® 68 is the fourth term of the quadratic sequence,
* 7 and 2%aet:iscconc acthrivems 1 prahe’, s'deeze:i
ot the first differences of the quadratic sequence. 4)
<3

QUESTION 3

3.1 The sum to infinity of a geometric series is 6, and the sum to infinity of

the squares of the terms of the series is 6.

3.1.1 Write down the second term of the series of squares in terms of

a and r. (N
3.1.2 Calculate the values of @ and r. (6)
3.1.3 Write down T, of the series of squares. (2)

22 There are S0 litres of water in a container. Waq'cvaponufrm.l'dm
container at the rate of 1% per hour under certain wwher.eoadmons.
How much water will be left in the container after 8 hours if left under

3)
these weather conditions?

nj J



Mathematics P! 6 I‘""“““N

NSC

42 Thegraphof f(x)=log,x issketched below. A(25; —2) isa pointon /

f
<4 -+
‘ _ o femidin
/ h
4. "’.ilci.'-s.'lllndumainm'/. 1))
422 Calculate the value of b.
2
423 Determine the equation of S in the form y=
=... 1?2)
424 For which values of x js (.'.)m_s<2 ?
5 0* (2)

(15)



5.1 Showthat f(x)=x"+6x+5. (3)

52  Calculate the coordinates of Q. (4)
53  Showthat f(x)=-5 forall valuesof x. 3)
54  Consider point R when SR is at its maximum in the interval X, <x<x,,
Determine:
54.1 The gradient of the tangent to f at R. (4)
542 The equation of the tangent to / at R. 3)
55 Consider x>x,. For which values of x is g(x)-g '(x)>15? (3)
120]
Please tum over
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QUESTION 6
Daniel deposits a sum of moncey into a savings account. The bank offerg

interest at the rate of 5% p.a., compounded monthly.
Calculate the effective interest rate that Daniel receives. Q@

6.1

AbﬂmdeamahmbanformeOwhcnhcmnedwmjns

mmago.ThelomwastobcmpaidoverapcﬁodonSm.Theme
of interest on the loan was 10,75% p.a., compounded monthly.

6.2

6.2.1 Matome made his first repayment one month after the loan was
granted and he continued to make monthly repayments thereafter,

Calculate Matome's monthly repayments. (4)

6.2.2 Matome continued to make monthly repayments. Calculate the balance
‘oW m s ‘muedic e s W macins el 40 - L¥Vila 3)

623 After making payments for the full 20 years, Matome lost his job and
nssidnnxtzl r.nil Yoomens H*heafwuni e chan

resumed his monthly repayments. However, Matome started paying
R9 000 monthly instead of the required amount,
Did Matome settle the loan in the original repayment period? Justify

your answer with relevant calculations. (5)
[14]

QUESTION 7
L U f)mdr~x, dosormine S'(x) from first principles, )

72 Determine
dy
12, ;s if y=~x'-l6x"+&x L)

22 sy ir a2 2
f X) Sx ) v; (‘)
“ 121

%m
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QUESTION S

Given: /(3)'“"&:’0‘:344 with the followi z

* J(-2)=fM)=0

* S M=f-n=0

e f(-)=4

e flO)=2

* fix)<0 for -1<x<l|

g1  Draw the graph of /. Indicate clearly the co-ordinates of the turning points

and the intercepts. (4)
§2  Determine the equation of f in the form of y=... (5)
83 k® ol (v=%) romecownth  vog e ts o 7 2)

Dreerming the valiws of p for which X =3x+2=p will have exactly one

ows. (2
113
QUESTION 9
Aboyuses 12m ofwiretoformacirclcandasqmn.Eachsideofd\cmis
xm long.
9.1 Sbowdmmcmwlamofﬂnsqummdmeciulcfomedisgivenw
A= (lvﬁ)I:—Z‘.l#}G (6)
x
92  Determine the value of x fomhichthewnlamismm (':



below.
| Commerce [ Science | Humanitics | Total
/ © (s) (H)
LGH: (G) |12 15 23 50
I Boys(B) |8 20 22 50
L‘rou 20 35 45 100

10.1.1 Calculate the probability that a leamer chosen at random from this
group is a wirl, ()
10.1.2 mumu.mm:mm
*hie g Bor charz= ® v e (1

10.1.3 mmemhh'lﬂlmm&mm:?
Justify your answer, ()
102 Howmd-diﬁtcoduwilhwmdjﬁuzo;l;2;3;4;7:9?
B Thwdemuh-mm,bcr(i.e.muubediviu‘blebyZ).
® The first digit must be Jess than 4.
* Digits may be repeated. @)
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10.3.3 Calculate the probability that in the different words formed in 10.3.1,

all vowels will not follow each other. 4)
(15])

TOTAL:150
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